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7.  (a) Define the temperature coefficient of resistance and state its unit. 3
(b) A 500 m length of copper wire, of 0.4 mm diameter, has a total resistance of 72 Q.

(alculate the resistivity of the copper wire. 4

‘ october 2020 \

10. (a) Define the resistivity of a material, (3)

(b) The resistance of 1.9 km of copper wire of 0.5 mm diameter is 170 ohms.
Calculate the resistance of 1 km of iron wire of 1 mm diameter. (7)

Note: the resistivity of iron = 5.9 x resistivity of copper
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10. (a) Define the resistivity of a material. (3)

(b) The resistance of 1.6 km of copper wire of 0.5 mm diameter is 170 ohms.

Calculate the resistance of 1 km of iron wire of 1 mm diameter.

(7)
Note: the resistivity of iron = 7 x resistivity of copper.
Q9 March 2018
(a) Define the temperature coefficient of resistance. (2)
(b) The resistance of a coil of copper wire is 175Q at a temperature of 15°C.
Calculate the temperature of the coil when the resistance increases to 245Q. (6)

Note: temperature coefficient of resistance of copper at 15°C = 0.00425/°C
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The resistance of a 240 V tungsten filament lamp at its working temperature of
2000°C is 1000 ohms. Calculate the maximum initial current when the lamp is
switched on at a room temperature of 20 C. (9)
Note: for tungsten a = 0.005/ C.

7. The resistance of a 240 V tungsten filament lamp at its working temperature of
2000°C is 1000 ohms.

Calculate the maximum initial current when the lamp is switched on at a room temperature
of 200C. (9)

Note: for tungsten 0o = 0.005/0 C.
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(a) Define the temperature coefficient of resisiance ang siate its unit, (3)

(h) 4 500 m length of copper wire, of 0.4 mm diameter, has a total resistance of 72 Q.

Caleulate the resistivity of the copper wire. (4
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10. (a) Define the resistivity of a material, 3)
(b} The resistance of 1.9 km of copper wire of 0.5 mm diameter is 170 ohme.
Calculate the resistance of 1 km of iron wire of 1 mm diameter. (7)

Note: the resistivity of iron = 5,9 x resistivity of copper
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10. (a) Define the resistivity of a material. (3)
{b) The resistance of 1.6 km of copper wire of 0.5 mm diameter is 170 ohms.

Calculate the resistance of 1 km of iron wire of 1 mm diameter. (7)

Note: the resistivity of iron = 7 x resistivity of copper.
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(a) Define the temperature coefficient of resistance. (2}
(b} The resistance of a coil of copper wire is 1750 at a temperature of 15°C.

Calculate the temperature of the coil when the resistance increases to 2450}, (&)

MNote: temperature coefficient of resistance of copper at 15°C = 0.00425/°C
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The resistance of a 240 V tungsten filament lamp at its working temperature of
2000°C is 1000 ohms. Calculate the maximum initial current when the lamp is
switched on at a room temperature of 20 C, (9)
Note: for tungsten a = 0.005/ C.
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